[image: image1.png]¥ & | A Online Practice: Theresa Betscher [

Online Practice
Powered by ALEKS

Topic. ttest of a multiple regression model
Meny

Dictionary n
$=65.7+6.50x, +3.19%,+6.19x, +9.0lx,

2.36, 1.18, 2.39, and 332,

significance level of 0.05 to determine your answer.

Ifthe standard errors of the coefficients of the independent variables are, respectively,

“The nul hypothesis: Hy:ll
“The altemative hypathesis: a0

The type oftest statisic:

The value of thetest statistc
(Rounto atleasttwo decimal [
places)

The two critcal values atthe 0.05
level of sgrifcance.

®Rounao atieasttwo decimal |0 20
places)

Can you conclude thatthe independent variable x, is
needed inthe regression model?

© Yes

% INBOX | OPTIONS | PRINT | EXIT

Using 20 observations on each variable, a computer program generated the following multiple regression model

Quiz
can you conclude that the independent variable x, is needed in the regression model?
Let B], BZ, Bq denote the coefficients of the 4 variables in this model, and use a two-sided hypothesis test and
Help

Carry your intermediate computations to at least three decimal places and round your answers as specified i the table.
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The value ofthe test statistic
(Roundto atleasttwo decimal | |Chi square
places) ;

The two critcal values atthe 0.05
level of sgrifcance.
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needed inthe regression model?
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% INBOX | OPTIONS | PRINT | EXIT

Using 20 observations on each variable, a computer program generated the following multiple regression model

Quiz
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